Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/27/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same, contested issues outline and witness preparation plan, M. Smoak direct and potential hearing cross- examination / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	4.00	420.00	1,680.00
04/27/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise contested issues outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.90	420.00	378.00
04/27/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team and T. Beske and T. Brice re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	2.10	420.00	882.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/28/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.50	420.00	630.00
04/28/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client E. Castaneda re witness notebook issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.10	145.00	14.50
04/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing and witness preparation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.30	345.00	103.50
04/28/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.10	420.00	42.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/28/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues and correspondence re same, potential deposition issues and correspondence re same, intervenor and staff testimonies, contested issues matrix, and cross-examination issues and assignments / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	4.20	420.00	1,764.00
04/29/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.30	420.00	546.00
04/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Order No. 8 and hearing preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L250	0.80	420.00	336.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/29/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze SOAH Order No. 8 and update procedural calendar re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.10	145.00	14.50
04/29/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re witness notebooks for testimony review / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	0.60	145.00	87.00
04/30/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness preparation / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	3.70	420.00	1,554.00
05/01/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.40	420.00	1,008.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/02/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.70	420.00	714.00
05/02/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re witness notebooks / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	1.50	145.00	217.50
05/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze witness testimony and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00
05/02/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Review/Analyze witness substitution issues and pleading / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L410	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/03/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re witness notebooks in preparation for testimony review / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	9.50	145.00	1,377.50
05/03/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.80	420.00	1,176.00
05/03/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze contested issues for assigned witnesses in upcoming hearing / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.20	360.00	792.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/03/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.10	420.00	882.00
05/04/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.60	420.00	1,932.00
05/04/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel to Dallas / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	2.80	420.00	1,176.00
05/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re witness and hearing preparation and zoom hearing considerations / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze C. Burnett and R. Ross direct testimonies and discovery responses and analyze hearing preparations issues re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.40	345.00	828.00
05/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel to Dallas for meeting with litigation team re hearing preparation issues / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	2.60	345.00	897.00
05/04/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze contested issues for assigned witnesses in upcoming hearing / PUCT/Hearing Preparation and Suppor		T-GHrgPrep L440	5.20	360.00	1,872.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/04/2021	WOC	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues, T. Brice, M. Baird, J. Stegall, M. Becker, and M. McMahon testimonies, discovery responses, and potential cross examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	4.20	420.00	1,764.00
05/04/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.30	420.00	546.00
05/04/2021	WOC	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel to Dallas for witness meetings / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	3.10	420.00	1,302.00

Date	Prof	Matter ID/Client Sort	Activity Code	Component Task Code	Units	Price	Value
		Matter Description Narrative		rask Code			
05/05/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	0.70	420.00	294.00
05/05/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness meeting / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	7.00	420.00	2,940.00
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client D. Seidel, C. Burnett, L. Ferry-Nelson, R. Ross, and litigation team re hearing and witness preparation / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.60	345.00	1,242.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze witness testimony and hearing preparation issues re behind the meter generation, distribution and transmission expenses, rate-case expenses, and billing determinants / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.80	345.00	966.00
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate w/other outside counsel SPP counsel T. Kentner re witness preparation and live testimony presentation / PUCT/Hearing Preparation and Support	A107	T-GHrgPrep L440	0.20	345.00	69.00
05/05/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for upcoming hearing through issue and witness review / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	8.20	360.00	2,952.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative		raok Godo			
05/05/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness meetings re hearing and testimony issues / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	8.80	420.00	3,696.00
05/05/2021	woc	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.80	420.00	336.00
05/05/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.50	420.00	210.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative					
05/06/2021	JDJ	012758-000472/ American Electric	A103	T-GHrgPrep	0.10	145.00	14.50
		Power Co.		L140			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Document/File Management					
		Draft/Revise list of persons subject to					
		protective order to include new Staff PO					
		certifications / PUCT/Hearing					
		Preparation and Support					
05/06/2021	KM	012758-000472/ American Electric	A101	T-GHrgPrep	2.50	420.00	1,050.00
		Power Co.		L440			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Other Trial Preparation and Support Plan					
		and prepare for witness meeting /					
05/00/0004	1.48.4	PUCT/Hearing Preparation and Support		T 011 D	0.40	400.00	4 400 00
05/06/2021	KM	012758-000472/ American Electric	A109	T-GHrgPrep	3.40	420.00	1,428.00
		Power Co.		L440			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Other Trial Preparation and Support					
		Appear for/attend witness meeting /					
		PUCT/Hearing Preparation and Support					

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/06/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and witness preparation issues and scope of potential cross- examination at hearing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.60	345.00	1,242.00
05/06/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze SWEPCO and Staff and Intervenor witness testimony and potential cross-examination topics re distribution and transmission expenses, rate-case expenses, behind the meter generation, and billing determinants / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.40	345.00	828.00
05/06/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for upcoming hearing through issue and witness review / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	8.30	360.00	2,988.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/06/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witnesses and litigation team meeting re hearing and testimony issues / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	7.80	420.00	3,276.00
05/06/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.50	420.00	210.00
05/06/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and witness issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.00	420.00	420.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/07/2021	CAB	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel to Austin from hearing preparation sessions with witnesses / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	3.00	350.00	1,050.00
05/07/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Manage Data/Files re discovery hearing record and witness notebooks / PUCT/Hearing Preparation and Support	A110	T-GHrgPrep L440	3.00	145.00	435.00
05/07/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for witness meeting / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.10	420.00	462.00
05/07/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend witness meeting / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	3.30	420.00	1,386.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel from hearing and witness preparation meeting with litigation team to office / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	3.20	345.00	1,104.00
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client C. Burnett, D. Seidel, L. Ferry-Nelson, R. Ross, and litigation team re hearing preparation and potential cross-examination issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.20	345.00	1,104.00
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze witness preparation issues re distribution expenses, ratecase expenses, billing determinants, and behind the meter generation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.80	345.00	276.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative		lask oode			
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage and J. Frederick re witness coordination and hearing issues / PUCT/Hearing	A106	T-GHrgPrep L440	0.20	345.00	69.00
05/07/2021	KCO	Preparation and Support 012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for upcoming hearing through issue and witness review /	A101	T-GHrgPrep L440	4.60	360.00	1,656.00
05/07/2021	WOC	PUCT/Hearing Preparation and Support 012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Appear for/attend meetings w/witnesses re hearing and testimony issues / PUCT/Hearing Preparation and Support	A109	T-GHrgPrep L440	4.00	420.00	1,680.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/07/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.60	420.00	252.00
05/10/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.80	420.00	756.00
05/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise hearing exhibit list / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.50	145.00	72.50
05/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client G. Gullickson re hearing exhibit issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/10/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.00	145.00	145.00
05/10/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Travel from Dallas for meetings w/witnesses re hearing and testimony issues / PUCT/Hearing Preparation and Support	A112	T-GHrgPrep L440	3.10	420.00	1,302.00
05/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client G. Gullickson and M. Gradek re hearing preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.00	145.00	145.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.60	145.00	377.00
05/11/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client A. Carlin re hearing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.10	420.00	42.00
05/11/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re cross- examination at hearing / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	420.00	168.00
05/11/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for cross-examination at hearing / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing preparation and procedures, witness lists and waiver, witness preparation, and Staff and Intervenor cross-examination / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.60	345.00	897.00
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage re hearing procedures and witness waiver issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.30	345.00	103.50
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external counsel for Staff and Intervenors re hearing procedures / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re proposed joint briefing outline / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.40	345.00	483.00
05/11/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze cross-examination and witness waiver issues, hearing order issues, and hearing and witness preparation issues, exhibit list, and hearing support documents / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.50	420.00	1,050.00
05/12/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Review/Analyze L. Ferry Nelson supplemental rebuttal testimony / PUCT/Hearing Preparation and Support		T-GHrgPrep L410	0.40	145.00	58.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/12/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Draft/Revise L. Ferry- Nelson supplemental rebuttal testimony / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L410	0.20	145.00	29.00
05/12/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.20	145.00	609.00
05/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external counsel for Staff and Intervenors re hearing procedures and witness waivers / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.50	345.00	172.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise proposed briefing outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	1.20	345.00	414.00
05/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, S. Bankston, M. Gage, and litigation team re hearing procedures and witness waiver issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.50	345.00	172.50
05/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures, cross-examination, witness waivers, and exhibit list, and communications re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.30	345.00	793.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/12/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze potential cross examination questions for adverse witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.60	360.00	936.00
05/12/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and witness preparation issues, exhibit list, testimony issues, and correspondence re same, cross-examination analysis and intervenor and Staff testimonies / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	3.50	420.00	1,470.00
05/13/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise cover pleading for SWEPCO protective order certification filings / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L210	0.10	145.00	14.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/13/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.50	420.00	630.00
05/13/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.50	145.00	652.50
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures, witness waivers, agreed briefing outline, and exhibit lists / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.60	345.00	552.00
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise agreed report on hearing procedures / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	1.20	345.00	414.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise proposed briefing outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.50	345.00	172.50
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external counsel for Staff and Intervenors re witness waivers and hearing procedures / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	2.10	345.00	724.50
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, S. Bankston, M. Gage, L. Melhem, and litigation team re hearing procedures, witness waiver, and draft briefing outline / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.90	345.00	310.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/13/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze cross-examination exhibits / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	3.30	360.00	1,188.00
05/13/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing procedure and witness waiver issues and correspondence re same, procedural schedule and related orders, draft briefing outline, and Preliminary Order and cited statutes, intervenor testimonies and cross-examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	6.50	420.00	2,730.00
05/13/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise briefing outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.30	420.00	126.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/14/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	6.20	145.00	899.00
05/14/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re A. Carlin cross examination / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	1.60	420.00	672.00
05/14/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client A. Carlin re cross-examination / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.40	420.00	168.00
05/14/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	420.00	168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/14/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. McMahon re hearing procedures / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.10	420.00	42.00
05/14/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze C. Cannady cross- examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.70	420.00	714.00
05/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external Staff and Intervenor counsel re hearing procedures report and witness waiver report / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	1.40	345.00	483.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing procedures, hearing preparation, and witness waiver and timing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.40	345.00	138.00
05/14/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues and hearing procedure issues and documents and correspondence re same / PUCT/Hearing Preparation and Suppor		T-GHrgPrep L440	1.50	420.00	630.00
05/15/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plar and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	10.50	145.00	1,522.50

Date	Prof	Matter ID/Client Sort	Activity Code	Component	Units	Price	Value
		Matter Description		Task Code			
		Narrative					
05/15/2021	JDJ	012758-000472/ American Electric	A106	T-GHrgPrep	0.10	145.00	14.50
		Power Co.		L140			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Document/File Management					
		Communicate with client S. Bankston re					
		hearing issues / PUCT/Hearing					
		Preparation and Support					
05/15/2021	JDJ	012758-000472/ American Electric	A106	T-GHrgPrep	0.50	145.00	72.50
		Power Co.		L440			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Other Trial Preparation and Support					
		Communicate with client J. Frederick re					
		hearing logistic issues / PUCT/Hearing					
		Preparation and Support					
05/15/2021	KM	012758-000472/ American Electric	A104	T-GHrgPrep	1.10	420.00	462.00
		Power Co.		L440			
		American Electric Power Co 2020					
		SWEPCO Texas Base Case					
		Other Trial Preparation and Support					
		Review/Analyze C. Cannady cross-					
		examination issues / PUCT/Hearing					
		Preparation and Support					

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston re hearing preparation, witness issues, and discovery responses / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.60	345.00	207.00
05/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage re issues with hearing procedures and witness waiver / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.40	345.00	138.00
05/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise agreed hearing procedures report / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.30	345.00	103.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/15/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze J. Pollock and A. Al- Jabir testimony and exhibits and analyze issues re cross-examination / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.80	345.00	966.00
05/16/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	3.00	145.00	435.00
05/16/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze C. Cannady cross- examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.90	420.00	1,218.00
05/16/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	3.10	420.00	1,302.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/16/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues relating to witness presentation and cross- examination of adverse witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	5.20	360.00	1,872.00
05/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re transmission costs, behind the meter generation, and potential cross-examination issues for TIEC witness J. Pollock and Eastman witness A. Al-Jabir / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	4.30	345.00	1,483.50
05/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage re hearing procedures report and witness waiver issue / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures report, briefing outline, and witness waivers / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.40	345.00	138.00
05/16/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing procedure and cross-examination issues and correspondence re same, exhibit list / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.00	420.00	840.00
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client G. Wilson re hearing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.60	420.00	252.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client W. Smith re hearing / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.50	420.00	210.00
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing schedule / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.60	420.00	672.00
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage et al. re hearing schedule / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.20	420.00	84.00
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.90	420.00	798.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative		rask Gode			
05/17/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external P. Baryenbruch et al. re hearing / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.20	420.00	84.00
05/17/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for cross-examination / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.40	420.00	1,008.00
05/17/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	5.50	145.00	797.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/17/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze witness issues, cross- examination outlines, new exhibits, and potential discovery responses submitted as evidence / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	9.20	360.00	3,312.00
05/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures, briefing outline, witness coordination and waivers, and review communications re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.30	345.00	448.50
05/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise hearing procedures report and draft briefing outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.50	345.00	172.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external parties re finalizing hearing procedures report and draft briefing outline / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	1.10	345.00	379.50
05/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client M. Gage re hearing procedures and witness coordination and finalizing reports re same / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.40	345.00	483.00
05/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing preparation and potential cross-examination issues re distribution expenses, behind the meter generation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.70	345.00	931.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/17/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing procedures and cross-examination issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	3.80	420.00	1,596.00
05/17/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing procedures and cross- examination issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.50	420.00	210.00
05/18/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client SWEPCO representatives and witnesses / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	4.60	420.00	1,932.00
05/18/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze parties' exhibit lists / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.50	420.00	630.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/18/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze J. Poole cross- examination / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.70	420.00	714.00
05/18/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	7.50	145.00	1,087.50
05/18/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues relating to presentation of witnesses and cross examination of Staff and intervenor witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	8.80	360.00	3,168.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing procedures and hearing schedule coordination and review communications re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.80	345.00	276.00
05/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external counsel for Staff and Intervenors re hearing coordination and schedule, hearing procedures, and witness waiver / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	1.20	345.00	414.00
05/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Draft/Revise and finalize for filing hearing procedures report and briefing outline and review communications re same / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L440	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team and witnesses re hearing preparation, testimony, and cross-examination issues / PUCT/Hearing Preparation and Suppor		T-GHrgPrep L440	1.80	345.00	621.00
05/18/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues re hearing preparation, cross-examination, distribution expenses, legal and regulatory expenses, and behind the meter generation / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.60	345.00	552.00
05/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing procedural issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.90	420.00	1,218.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing procedural issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.00	420.00	1,260.00
05/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze statements of position and supplemental testimonies / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L250	0.60	420.00	252.00
05/18/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Expert Witnesses Review/Analyze Intervenor testimonies, cross- examination themes, and cross exhibits / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L420	2.70	420.00	1,134.00
05/19/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	0.80	420.00	336.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative					
05/19/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client SWEPCO representatives and witnesses re hearing preparation / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	0.90	420.00	378.00
05/19/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for C. Cannady and J. Poole cross-examination / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	1.60	420.00	672.00
05/19/2021	JDJ	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.50	145.00	652.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/19/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues relating to cross- examination of Staff witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.40	360.00	864.00
05/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, L. Ferry-Nelson, S. Bankston, M. Gage, L. Melhem, and M. Smoak re hearing status, preparation, and coordination / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.20	345.00	414.00
05/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze testimony, potential cross-examination issues, and prepare notes re defense of SWEPCO witnesses / PUCT/Hearing Preparation and Suppor		T-GHrgPrep L440	3.20	345.00	1,104.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/19/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.30	420.00	546.00
05/19/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	2.00	420.00	840.00
05/20/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plar and prepare for hearing / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	0.90	420.00	378.00
05/20/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plar and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.50	145.00	652.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/20/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, L. Ferry-Nelson, S. Bankston, M. Gage, L. Melhem, and litigation team re hearing status, preparation, witness coordination, and cross-examination issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.80	345.00	621.00
05/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze testimony, witness cross examination issues, and prepare for hearing / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	2.40	345.00	828.00
05/20/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.20	420.00	504.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/20/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	2.00	420.00	840.00
05/21/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.00	145.00	290.00
05/21/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re cross-examination and hearing preparation issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.20	345.00	414.00
05/21/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.10	420.00	462.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/21/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	2.00	420.00	840.00
05/22/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues for direct examination and cross-examination of witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	7.80	360.00	2,808.00
05/22/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client S. Bankston re hearing preparation and witness issues a PUCT/Hearing Preparation and Support	1	T-GHrgPrep L440	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/22/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues and correspondence re same and briefing outline and outline issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	0.90	420.00	378.00
05/23/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	0.40	145.00	58.00
05/23/2021	ксо	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues for direct examination and cross-examination of witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	11.40	360.00	4,104.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external CARD counsel A. Herrera re cross-examination of R. Woolridge and hearing exhibits / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.20	345.00	69.00
05/23/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external CARD counsel S. Herrera re witness order / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.10	345.00	34.50
05/23/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and exhibit issues and correspondence re same / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.00	420.00	420.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/24/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	4.60	145.00	667.00
05/24/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze issues for direct examination and cross-examination of witnesses / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	2.60	360.00	936.00
05/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, J. Aaron, R. Ross, S. Bankston, and M. Gage re hearing preparation and cross- examination issues re behind the meter generation and cost allocation / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.80	345.00	621.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/24/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise letter to ALJs re revised briefing outline / PUCT/Hearing Preparation and Support	A103	T-GHrgPrep L210	0.20	345.00	69.00
05/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.80	420.00	756.00
05/24/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.00	420.00	1,260.00
05/25/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plar and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	2.00	145.00	290.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/25/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing and analyze issues re behind the meter generation, billing determinant adjustments, and cost allocation and rate design / PUCT/Hearing Preparation and Support		T-GHrgPrep L440	1.10	345.00	379.50
05/25/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with other external counsel for TIEC, B. Hallmark, and counsel for TCGA, Z. Brady, re hearing exhibits / PUCT/Hearing Preparation and Support	A108	T-GHrgPrep L440	0.20	345.00	69.00
05/25/2021	woc	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.70	420.00	714.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/25/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	2.00	420.00	840.00
05/26/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing on the merits / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	1.00	145.00	145.00
05/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Plan and prepare for hearing and analyze issues re billing determinant adjustments, and cost allocation issues / PUCT/Hearing Preparation and Support	A101	T-GHrgPrep L440	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client T. Brice, C. Burnett, M. Gage, L. Melhem, and litigation team re hearing, briefing, and cross-examination issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	1.20	345.00	414.00
05/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze hearing and post hearing issues / PUCT/Hearing Preparation and Support	A104	T-GHrgPrep L440	1.30	420.00	546.00
05/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Communicate with client litigation team re hearing and post hearing issues / PUCT/Hearing Preparation and Support	A106	T-GHrgPrep L440	3.00	420.00	1,260.00
		. 22loaning responding and Support	Com	ponent: T-GHrgPrep	498.20		163,923.50

Component: T-GMot

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative					
04/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re motion to strike portions of D. Glick direct testimony / PUCT/Non-Discovery	A104	T-GMot L250	0.20	345.00	69.00
04/05/2021	WOC	Pleadings and Motions 012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze motion to strike D. Glick testimony issues / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	420.00	126.00
04/06/2021	SMG	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise motion to strike D. Glick testimony / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	3.30	230.00	759.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re motion to strike D. Glick direct testimony / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	345.00	103.50
04/07/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze suggested revisions re Motion to Strike D. Glick testimony and incorporate same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	230.00	69.00
04/07/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze arguments re Motion to Strike D. Glick testimony and suggested feedback re same / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L250	0.20	230.00	46.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/07/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze motion to strike, D. Glick testimony, cited discovery responses and schedules / PUCT/Non-Discovery Pleadings and Motions		T-GMot L250	2.30	420.00	966.00
04/08/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise motion to strike portion of D. Glick direct testimony / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L250	0.30	345.00	103.50
04/08/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze correspondence with client group re motion to strike feedback / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	230.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/08/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze motion to strike testimony issues / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.80	420.00	336.00
04/16/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze Sierra Club's response to SWEPCO motion to strike D. Glick testimony	A104	T-GMot L210	0.30	345.00	103.50
04/16/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Sierra Club response to Motion to Strike / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	230.00	69.00
04/17/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with client litigation team re Sierra Club response to motion to strike D. Glick testimony / PUCT/Non-Discovery Pleadings and Motions	A106	T-GMot L210	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Draft/Revise reply to Sierra Club's response to SWEPCO motion to strike D. Glick testimony / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L210	0.30	345.00	103.50
04/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze issues re reply to Sierra Club response to SWEPCO motion to strike portion of D. Glick direct testimony / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L210	0.20	345.00	69.00
04/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with client S. Bankston re Sierra Club motion for leave to file sur-reply and updating RFI sponsors / PUCT/Non-Discovery Pleadings and Motions	A106	T-GMot L210	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze issues re Sierra Club motion for leave to file sur- reply to SWEPCO reply to response to motion to strike portions of D. Glick direct testimony / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L210	0.30	345.00	103.50
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze issues re witness substitution and designation of RFI sponsors / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L120	0.30	345.00	103.50
05/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze issues re pleading addressing witness substitution / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L210	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze and finalize pleading re substitution of witnesses and adoption of testimony / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L210	0.20	345.00	69.00
05/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Review/Analyze issue re scope of proposed briefing outline / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L210	0.20	345.00	69.00
05/04/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Eastman motion to strike and analyze issues re response to same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	1.30	345.00	448.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/04/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Eastman motion to strike testimony / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.60	230.00	138.00
05/04/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Research related to Eastman motion to strike / PUCT/Non-Discovery Pleadings and Motions	A102	T-GMot L250	0.70	230.00	161.00
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re scope and structure of response to Eastman motion to strike testimony / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L250	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/05/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Pleadings Communicate with other external Staff and intervenor counsel re settlement status report / PUCT/Non- Discovery Pleadings and Motions	A108	T-GMot L210	0.40	345.00	138.00
05/05/2021	SMG	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Research issues raised in Eastman motion to strike / PUCT/Non-Discovery Pleadings and Motions	A102	T-GMot L250	3.40	230.00	782.00
05/05/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze testimony and documents related to arguments in Eastman motion to strike / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L250	1.30	230.00	299.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/06/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re response to Eastman motion to strike testimony / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	2.20	345.00	759.00
05/06/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze and organize arguments re motion to strike, additional research regarding standards for same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	3.60	230.00	828.00
05/06/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze strategy and notes regarding Eastman arguments and supporting authority / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L250	2.10	230.00	483.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/07/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise Response to Eastman Motion to Strike / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	8.60	230.00	1,978.00
05/08/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to Eastman motion to strike R. Ross and C. Locke rebuttal testimony / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	3.60	345.00	1,242.00
05/09/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to Eastman motion to strike rebuttal testimony / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	1.20	345.00	414.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to Eastman motion to strike based on suggested revisions and comments / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L250	2.10	230.00	483.00
05/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Communicate with client M. Gage, T. Brice et al. re response to Eastman Motion to Strike for review / PUCT/Non- Discovery Pleadings and Motions	A106	T-GMot L250	0.10	230.00	23.00
05/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze notes and strategy re Sierra Club appeal of Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.20	230.00	46.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/09/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze Sierra Club appeal of SOAH Order No. 7 / PUCT/Non- Discovery Pleadings and Motions	A104	T-GMot L250	0.50	230.00	115.00
05/10/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re revisions to response to Eastman motion to strike rebuttal testimony / PUCT/Non-Discovery	A104	T-GMot L250	1.40	345.00	483.00
05/10/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise Response to Motion to Strike / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	2.10	230.00	483.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/10/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze client responses regarding draft Response to Motion to Strike / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.20	230.00	46.00
05/10/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Communicate with client J. Aaron re Response to Motion to Strike / PUCT/Non-Discovery Pleadings and Motions	A106	T-GMot L250	0.10	230.00	23.00
05/10/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Research and preparing response to Sierra Club Appeal of Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A102	T-GMot L250	2.20	230.00	506.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise and finalize response to Eastman motion to strike rebuttal testimony / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	0.80	345.00	276.00
05/11/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze revisions to Response to Motion to Strike and incorporate same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.20	230.00	46.00
05/11/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise and finalize Response to Motion to Strike for filing / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L250	0.30	230.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to Sierra Club's appeal/motion to reconsider Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	3.70	230.00	851.00
05/12/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze response to Sierra Club motion to reconsider SOAH Order No. 7 and communications re same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	345.00	103.50
05/12/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise and incorporate feedback re response to appeal/motion to reconsider Order No. 7 / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L250	0.30	230.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/12/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise and add authority to draft response to appeal/motion to reconsider Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	2.40	230.00	552.00
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re response to Sierra Club motion to reconsider SOAH Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	345.00	103.50
05/13/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to Sierra Club Appeal/Motion to Reconsider / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	0.30	230.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/13/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Communicate with client L. Melhem re revisions/edits to draft Response to Motion to Reconsider/Appeal Order No. 7 / PUCT/Non-Discovery Pleadings and Motions	A106	T-GMot L250	0.10	230.00	23.00
05/13/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Communicate with client re revised draft Response to Motion to Reconsider/Appeal of Order No. 7 to be filed / PUCT/Non-Discovery Pleadings and Motions	A106	T-GMot L250	0.10	230.00	23.00
05/13/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Trial Preparation and Support Review/Analyze comments re briefing outline and potential issue for inclusion ir same / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L440	0.60	230.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/14/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issue related to Appeal/Motion to Reconsider / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.10	230.00	23.00
05/14/2021	SMG	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise response to motion to reconsider and appeal / PUCT/Non- Discovery Pleadings and Motions	A103	T-GMot L250	0.10	230.00	23.00
05/26/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Review/Analyze issues relating to post hearing brief topics, assignments, and deadlines / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L460	2.60	360.00	936.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/27/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Draft/Revise Motion for optional completeness / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L460	0.40	145.00	58.00
05/27/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Review/Analyze issues relating to post hearing brief and briefing schedule / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L460	3.30	360.00	1,188.00
05/27/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Review/Analyze issues re motion for optional completeness of hearing exhibits / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L460	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/28/2021	JDJ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Draft/Revise motion for optional completeness and prepare for filing of same / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L460	0.30	145.00	43.50
05/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Review/Analyze issues re scope of motion for optional completeness / PUCT/Non-Discovery Pleadings and Motions	A104	T-GMot L250	0.30	345.00	103.50
05/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Other Written Motions and Submissions Draft/Revise motion for optional completeness / PUCT/Non-Discovery Pleadings and Motions	A103	T-GMot L250	0.30	345.00	103.50
		Š	(Component: T-GMot	66.90		18,638.00

Component: T-GPol

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/13/2021	LBK	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Fact Witnesses Review/Analyze T. Brice rebuttal testimony re ETSWD customer choice issue / PUCT/Policy Issues	A104	T-GPol L410	0.70	320.00	224.00
0	5 OD OU			Component: T-GPol	0.70		224.00
Component: 1							
05/26/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Analysis/Strategy Review/Analyze optional completeness issues / PUCT/Other Rate Case Procedural Matters	A104	T-GProOth L120	0.90	420.00	378.00
05/26/2021	KCO	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Post-Trial Motions and Submissions Review/Analyze need for optional completeness on intervenor and staff exhibits / PUCT/Other Rate Case Procedural Matters	A104	T-GProOth L460	2.30	360.00	828.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/28/2021	KCO	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Trial and Hearing Attendance Review/Analyze optional completeness of intervenor and staff exhibits / PUCT/Other Rate Case Procedural Matters	A104	T-GProOth L450	1.20	360.00	432.00
			Con	ponent: T-GProOth	4.40		1,638.00
Component: 1	Γ-GSettle						
04/19/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client M. Gage re planning for and potential timing of settlement conference / PUCT/Settlement Activities	A106	T-GSettle L160	0.10	345.00	34.50
04/20/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external counsel for Staff and Intervenors re coordinating settlement conference / PUCT/Settlement Activities	A108	T-GSettle L160	0.30	345.00	103.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/26/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issues re settlement / PUCT/Settlement Activities	A104	T-GSettle L160	0.70	420.00	294.00
04/26/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client S. Bankston et al. re settlement issues / PUCT/Settlement Activities	A106	T-GSettle L160	1.00	420.00	420.00
04/26/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issues re settlement position and settlement conference strategy / PUCT/Settlement Activities	A104	T-GSettle L160	0.30	345.00	103.50
04/26/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and litigation team re settlement conference coordination and settlement positions / PUCT/Settlement Activities	A106	T-GSettle L160	1.60	345.00	552.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement issues, calculations, and correspondence re same / PUCT/Settlement Activities	A104	T-GSettle L160	1.20	420.00	504.00
04/26/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team re potential settlement issues / PUCT/Settlement Activities	A106	T-GSettle L160	1.60	420.00	672.00
04/27/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team re settlement strategy / PUCT/Settlement Activities	A106 t	T-GSettle L160	1.50	345.00	517.50

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/27/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issue re settlement strategy and strategy for communicating with parties re same / PUCT/Settlement Activities	A104	T-GSettle L160	0.30	345.00	103.50
04/27/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement and NOL ADIT issues / PUCT/Settlement Activities	A104	T-GSettle L160	0.70	420.00	294.00
04/27/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client legal team and T. Brice re potential settlement issues / PUCT/Settlement Activities	A106	T-GSettle L160	2.00	420.00	840.00
04/28/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze Sharyland settlement / PUCT/Settlement Activities	A104	T-GSettle L160	1.30	420.00	546.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative					
04/28/2021	КМ	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice et al. re Sharyland settlement / PUCT/Settlement Activities		T-GSettle L160	0.30	420.00	126.00
04/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice, S. Bankston, M. Gage, and litigation team re settlement strategy / PUCT/Settlement Activities	A106	T-GSettle L160	0.80	345.00	276.00
04/28/2021	PJP	O12758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issues re settlement strategy and scope of initial settlement offer / PUCT/Settlement Activities	A104	T-GSettle L160	0.40	345.00	138.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and R. Hamlett re settlement offer strategy / PUCT/Settlement Activities	A106	T-GSettle L160	0.20	345.00	69.00
04/28/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Staff counsel R. Asher re settlement conference / PUCT/Settlement Activities	A108	T-GSettle L160	0.20	345.00	69.00
04/28/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client regulatory and tax management and litigation team re potential settlement terms / PUCT/Settlement Activities	A106	T-GSettle L160	1.50	420.00	630.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/28/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze potential settlement terms and tax issues / PUCT/Settlement Activities	A104	T-GSettle L160	0.60	420.00	252.00
04/29/2021	KM	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client S. Bankston et al. re settlement / PUCT/Settlement Activities	A106	T-GSettle L160	1.30	420.00	546.00
04/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice, M. Gage, R. Hamlett, S. Bankston, and litigation team re settlement offer strategy / PUCT/Settlement Activities	A106	T-GSettle L160	1.80	345.00	621.00

Date	Prof	Matter ID/Client Sort Matter Description	Activity Code	Component Task Code	Units	Price	Value
		Narrative					
04/29/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issues re settlement term sheet and proposed revisions to same / PUCT/Settlement Activities	A104	T-GSettle L160	1.40	345.00	483.00
04/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team and T. Brice re settlement terms / PUCT/Settlement Activities	A106	T-GSettle L160	1.70	420.00	714.00
04/29/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement terms and correspondence re same / PUCT/Settlement Activities	A104	T-GSettle L160	1.00	420.00	420.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and S. Bankston re preparation for settlement conference and finalizing initial settlement offer / PUCT/Settlement Activities	A106	T-GSettle L160	0.90	345.00	310.50
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Plan and prepare for settlement conference and analyze issues re settlement offer and presentation of same / PUCT/Settlement Activities	A101	T-GSettle L160	0.80	345.00	276.00
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze issues re Staff and Intervenor questions at settlement conference and issues re counter-offer strategy / PUCT/Settlement Activities	A104	T-GSettle L160	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client M. Gage re settlement conference and communicating with parties re SWEPCO settlement offer and scope of potential counter-offers / PUCT/Settlement Activities	A106	T-GSettle L160	0.30	345.00	103.50
04/30/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Appear for/attend settlement conference / PUCT/Settlement Activities	A109	T-GSettle L160	0.60	345.00	207.00
04/30/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team and S. Bankston and T. Brice re settlement term issues and settlement conference / PUCT/Settlement Activities	A106	T-GSettle L160	1.10	420.00	462.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
04/30/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement term issues / PUCT/Settlement Activities	A104	T-GSettle L160	0.90	420.00	378.00
04/30/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Staff and intervenors re potential settlement terms / PUCT/Settlement Activities	A108	T-GSettle L160	0.60	420.00	252.00
05/01/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice, R. Hamlett, and litigation team re settlement strategy and potential settlement revenue requirement offer range and Sierra Club issues / PUCT/Settlement Activities	A106	T-GSettle L160	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/01/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement issues, litigation assessment, calculations, and correspondence re same / PUCT/Settlement Activities	A104	T-GSettle L160	0.60	420.00	252.00
05/01/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team re settlement issues, litigation assessment, and calculations / PUCT/Settlement Activities	A106	T-GSettle L160	0.30	420.00	126.00
05/02/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Sierra Club counsel J. Smith re settlement discussions / PUCT/Settlement Activities	A108	T-GSettle L160	0.20	345.00	69.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Sierra Club counsel J. Smith and T. Mendoza re settlement concerns / PUCT/Settlement Activities	A108	T-GSettle L160	0.90	345.00	310.50
05/03/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice re settlement offer strategy and Sierra Club settlement concerns / PUCT/Settlement Activities	A106	T-GSettle L160	0.40	345.00	138.00
05/03/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Sierra Club re settlement issues / PUCT/Settlement Activities	A108	T-GSettle L160	0.90	420.00	378.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/03/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice re settlement issues / PUCT/Settlement Activities	A106	T-GSettle L160	0.20	420.00	84.00
05/03/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze potential settlement issues / PUCT/Settlement Activities	A104	T-GSettle L160	0.20	420.00	84.00
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and litigation team re settlement offer strategy / PUCT/Settlement Activities	A106	T-GSettle L160	0.80	345.00	276.00
05/05/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze Staff and Intervenor settlement offer and analyze issues re counteroffer strategy / PUCT/Settlement Activities	A104	T-GSettle L160	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/05/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team re settlement issues / PUCT/Settlement Activities	A106	T-GSettle L160	1.00	420.00	420.00
05/06/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client M. Smoak, T. Brice, L. Ferry-Nelson, M. Gage, L. Melhem, and S. Bankston re Staff and Intervenor settlement and strategy for counteroffer terms and conditions / PUCT/Settlement Activities	A106	T-GSettle L160	1.80	345.00	621.00
05/06/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team re settlement offer and counter terms / PUCT/Settlement Activities	A106	T-GSettle L160	2.70	420.00	1,134.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice, M. Smoak, and M. Gage re settlement strategy / PUCT/Settlement Activities	A106	T-GSettle L160	0.80	345.00	276.00
05/07/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Staff and Intervenor counsel re settlement offer / PUCT/Settlement Activities	A108	T-GSettle L160	0.50	345.00	172.50
05/07/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement issues and terms / PUCT/Settlement Activities	A104	T-GSettle L160	0.70	420.00	294.00
05/07/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external TIEC, CARD, and Staff re counter offer terms / PUCT/Settlement Activities	A108	T-GSettle L160	0.50	420.00	210.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Staff counsel R. Asher re settlement status / PUCT/Settlement Activities	A108	T-GSettle L160	0.10	345.00	34.50
05/11/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice re settlement status and parties' potential timing of settlement counter / PUCT/Settlement Activities	A106	T-GSettle L160	0.30	345.00	103.50
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and litigation team re review of Staff and Intervenor settlement offer / PUCT/Settlement Activities	A106	T-GSettle L160	0.60	345.00	207.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/13/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external CARD counsel A. Herrera, TIEC counsel R. Van Middlesworth, and Staff counsel R. Asher re settlement counteroffer and continuing settlement negotiations / PUCT/Settlement Activities	A108	T-GSettle L160	0.40	345.00	138.00
05/13/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client litigation team and T. Brice re settlement offer / PUCT/Settlement Activities	A106	T-GSettle L160	1.20	420.00	504.00
05/13/2021	WOC	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Review/Analyze settlement offer and correspondence re same / PUCT/Settlement Activities	A104	T-GSettle L160	0.90	420.00	378.00

Date	Prof	Matter ID/Client Sort Matter Description Narrative	Activity Code	Component Task Code	Units	Price	Value
05/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client T. Brice and litigation team re review of Staff and Intervenor settlement offer / PUCT/Settlement Activities	A106	T-GSettle L160	0.90	345.00	310.50
05/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with other external Staff counsel R. Asher, CARD counsel A. Herrera, and TIEC counsel R. VanMiddlesworth re settlement offer and response / PUCT/Settlement Activities	A108	T-GSettle L160	0.80	345.00	276.00
05/14/2021	PJP	012758-000472/ American Electric Power Co. American Electric Power Co 2020 SWEPCO Texas Base Case Settlement/Non-binding ADR Communicate with client M. Gage re settlement strategy / PUCT/Settlement Activities	A106	T-GSettle L160	0.20	345.00	69.00